


Method
d.items
d.get(k)
d.keys(k)
d.pop(k)
d.values(k)
d.update(d2)

dict(listname)

Description
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Dictionary Methods, pop(k), values()

 .pop(k) e .values()

>>> sp={'one"'uno, 'two":'dos’, 'three".'tres'}
>>> sp.get('two’)

'dos’

>>> sp['one']

‘uno’

>>> sp.keys()
dict_keys(['one’, 'two, 'three'])
>>> sp.pop(‘one’)

'uno’

>>> Sp

{'two": 'dos', 'three": 'tres'}
>>> sp.values()
dict_values(['dos’, 'tres'])
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Dictionary Methods, update(d2)
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>>> sp={'one"'uno’, 'two"'dos’, 'three"'tres'}
>>> birthdate={'"kmkim": 224, 'sjkang": 512, 'kdhong" 1212, 'ychoi': 409, 'hjkim": 1103}

>>> sp.update(birthdate)

>>>5p
{'one": 'uno, 'two": 'dos’, 'three': 'tres', 'kmkim': 224, 'sjkang": 512, 'kdhong'": 1212,
'ychoi': 409, 'hjkim': 1103}

>>> birthdate
{'kmkim': 224, 'sjkang": 512, 'kdhong": 1212, 'ychoi': 409, 'hjkim": 1103}
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Dictionary Methods, dict

e dict H &=

e index-4f FAIO| EZE 1 El 2|AE E dictionary=
B 5}

f# FEE 79 2[2EFE HMYEE HHA = dict \
>>>t =[('a’, 0), ('c, 2), ('b", 1]
>>> d = dict(t)

>>>

{'a: 0, 'c: 2, 'b": 1}

>>> d = dict(zip('abc', range(3)))

>>> d

{a" 0, 'b" 1, 'c: 2}
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Dictionary Ck= 94X 82|

* Index= OfLO|X|2F, S St= &= E|2ER 8
of0] M HEl= A

/>>> sp={'one":['uno’, 1], 'two"['dos',2], 'three".['tres',3]} \
>>> sp['one’]
['uno’, 1]

>>> sp.values()
dict_values([['uno’, 1], ['dos’, 2], ['tres’, 3]])

>>> sp.keys()
dict_keys(['one’, 'two, 'three'])

>>> Sp
{'one": ['uno, 1], 'two': ['dos’, 2], 'three": ['tres’, 3]}
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f phone = {} \

def add_phonenumber(n):
for i in range(n):
print(i+1)
index = input('0|&: ")
phonenumber = int(input( M 2tH=: ")
phonelindex] = phonenumber

======== RESTART: E:/1_Works/2017Work/KMooCZFE| /Exercise Code/0FfA_H s

add_phonenumber(5)

=
=

=
=

print(phone.keys()) |
print(phone.values()) S S 0101111111
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Ol £ kdhong
HEHZ 0 0102222222
4

Ol S ychoi

HEHF 0 0103333333
]
O
H 04444444

kmkim', 'sjkang', 'kdhong', 'wvchoi', 'hjkim'])
(100000000, 101111111, 102222222, 103333333, 104444444])
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lec = input( P UAIES YESIA|R: )

print(Subjects[lec])
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def find_teacher(sub): \
Subjects = { A 0|8, Okt X G| HO, k], LSRG, HEHE A

'_)r_ﬂ / _||- |CC)>:I %:I = o [Lin o= 1
CAY), B4 R0f, 0| S-Sk, e
teacher = []
for key in Subjects.keys():
if sub in Subjects[key]:
teacherappend(key)
e
return teacher ======== RESTART: E KL_WDI’HSHZW T
BB TP
| D | J | ;T: ﬁ | J | i_._-'\_._ |
sub = input('It== YESIA|R: ) e =T
\print(ﬁnd_teacher(sub)) ======== RESTART: E:/1_Works/201 ?‘Wc/
=
D=2 AHsIAL2: Hof
'HES', ' HSH']
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